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$4EEFD>=EF6> <<>D>F<D>G?OF<< ?D<6>4<F > GEG4L5=<N F65F4 ?<F4.  
�>EF5?5==>5 D4EEFD>=EF6> <<>D>F<D>G?OF<< 6545F > E=<65=<N FD>D<>< 
(>5<5=4 65M5EF6 6 F>4=OE), GF>, 6 E6>N >G5D54L, 74?GE>45F ?>D>G=O= >DG7 
GE>>D5=<O ?D>F5EE>6 EF4D5=<O. �D><5 F>7>, E=<65==>5 >D>6>E=4565=<5 
?D<6>4<F > GEG4L5=<N F65F4 ?<F4.  
 

�D5>5?444=<5 D>7>6>7> E?>O M?<45D<<E4 D>D<<DG5F <5?><5 <>DM<=><. 
%=<645FEO E>>D>EFL 45?5=<O 5474?L=OE >?5F>>, <EF>=G45FEO 5474?L=O= 
E?>=, F>744 >4> F>?M<=4 D>7>6>7>, =4>5>D>F, G65?<G<645FEO. -F>F ?D>F5EE 
6545F > F><G, GF> >>64, >E>55==> EGE4O, EF4=>6<FEO ?>E>65= =4 ?5D74<5=F, 

=4G<=4NF D>D<<D>64FLEO <5?><5 <>DM<=O. 
 

�57D444F<O >>??475=>6OE < M?4EF<=>6OE 6>?>>>= =4DGL45F >>=FGDO 
>64?4 ?<F4. �4 GD>6=5 45D<O <EF>=G4NFEO >>??475=>6O5 < M?4EF<=>6O5 

6>?>>=4, EF4=>6<FEO 5>?55 E4>F<G=O< <E D4E?>?>65=<5, 74<54?O5FEO 
?D>F5EE <E 6>EEF4=>6?5=<O. �>64 F5DO5F G?DG7>EFL < M?4EF<G=>EFL.  
 

�?O ?>445D64=<O <>?>4>EF< < >D4E>FO =54>EF4F>G=> <E?>?L7>64FL 
F>?L>> >>E<5F<>G, =5>5E>4<<> ?D<<5=OFL  

4??4D4F=O5 <5F>4O GE>44 74 >>65=.  
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�D<5>D 4?O ><>?>65=<O >>6< ?<F4 iluminage Youth Activator <E?>?L7G5F  
FD< D47=OE F<?4 M=5D7<<: 
" RF 3 �=>7>?>?OD=O5 D44<>G4EF>F=O5 <<?G?LEO 

" %D><>F5D4?<O >D4E=>7> F65F4 

" �=DD4>D4E=O= ?D>7D56 

 

" �D4E=O= E65F < <=DD4>D4E=O5 E65F>4<>4O E>6<5EF=> 6>745=EF6GNF =4 
<>DM<=O < D477?46<64NF <E. �>?>?=<F5?L=> G?GGL4NF E>EF>O=<5 >>6<,  
55 <5F45>?<7<, F>= < F5>EFGDG. �> <5D5 ><>?>65=<O >?5F>> >>6<,  
6O G6<4<F5 74<5F=>5 G<5=LL5=<5 >>?<G5EF64 F>=><E <>DM<=.   
 

" $44<>G4EF>F=O5 6>?=O 4>EF46?ONF F5??>6GN M=5D7<N 6 >>6G 4?O 
EF<<G?<D>64=<O ?D><76>4EF64 =>6OE >>??475=4 < M?4EF<=4. %F<<G?OF<O 
?>O6?5=<O =>6>7> >>??475=4 ?D<6>4<F > F><G, GF> 64L4 >>64 EF4=>6<FEO  
5>?55 G?DG7>= < 6O7?O4<F <>?>4>=. �?O 5>?55 7?G5>>>7> ?D>=<>=>65=<O 
D44<>G4EF>F=OE 6>?= 6 E?>< >>6<, 4??4D4F D5>><5=4G5FEO <E?>?L7>64FL  
6 E>G5F4=<< E> E?5F<4?L=>= >>E<5F<>>=,>>F>D4O >55E?5G<645F 4>EF<65=<5 
<4>E<<4?L=OE D57G?LF4F>6. 
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?D<5>D ?> GE>4G 74 >>65= «YOUTH ACTIVATOR» 
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�>E<5F<G5E><= 4??4D4F YOUTH ACTIVATOR, E>744==O= <564G=4D>4=O< 
>>=F5D=>< ILUMINAGE,  =4 >E=>65 ?5D54>6OE F5E=>?>7<= MDD5>F<6=>  
G>D5??O5F < ?>4FO7<645F >>6G, 4 F4>65 D477?46<645F <>DM<=O  
< "7GE<=O5 ?4?><".  
�5F>4<>4 RF-?<DF<=7, >>F>D4O GE?5L=> 74D5>><5=4>64?4 E55O 6 MEF5F<G5E>>= 
>>E<5F>?>7<<, 5?47>44DO 65?<>>?5?=O< D57G?LF4F4< ><>?>65=<O >>6<  
< D477?46<64=<O <<<<G5E><E <>DM<=. 
 

RF 3 E>>D4M5==>5 >F Radio Frequency, GF> >7=4G45F M?5>FD<G5E><= F>> 

6 D44<>G4EF>F=>< 4<4?47>=5. �>47O645F  6>745=EF6<5 =4 >?5F>< >>6< 
E?5F<4?L=O<< <<?G?LE4<< EFD>7> >?D545?5==>= G4EF>FO.  
'=<>4?L=>5 E>G5F4=<5 <5F>4<> ?>76>?O5F ?5D54464FL M=5D7<N  
6 7?G5>><5 E?>< >>6<, 6 >>F>DOE D>D<<DGNFEO >>??475= < M?4EF<=,  
>F65G4NM<5 74 G?DG7>EFL < F>=GE >>6<.  
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YOUTH ACTIVATOR >>47O645F <=DD4>D4E=O= ?D>7D56.  
" �=DD4>D4E=O= ?D>7D56 EF<<G?<DG5F >D>6>>5D4M5=<5  

< >5<5==O5 ?D>F5EEO, GE<?<645F 6OD45>F>G >>??475=4, 
G>D5??O5F < ?>4FO7<645F >>6G. 

" �>47O645F 5?47>F6>D=>5 6>745=EF6<5 =4 ?>65DE=>EF=O= 
E?>= >>6<, 4>F<6<DGO F<D>G?OF<N >D>6<, E?>E>5EF6GO 
=4EOM5=<N >?5F>> >>6< ><E?>D>4><, ?<F4F5?L=O<< 
M?5<5=F4<<.   

 

" �� ?D>7D56 >6<6?O5F 5<>?>7<G5E><5 DG=>F<< >?5F>>, 
?>6OL45F <OL5G=O= F>=GE, 6O6>4<F F>>E<=O,  
>>47O645F 6OD465==>5 4=F<54>F5D<4?L=>5 6>745=EF6<5, 
6>EEF4=46?<645F < G?GGL45F <<<G=<F5F.  
 

" �E?>?L7>64=<5 6 ?D<5>D5 «YOUTH ACTIVATOR»  

<=DD4>D4E=>7> ?D>7D564 6 E>G5F4=<< D44<>G4EF>F=O< 
6>745=EF6<5< ?>76>?O5F ?>?GG<FL <4>E<<4?L=O= D57G?LF4F, 
>>F>DO= E>ED4=O5FEO 4?<F5?L=>5 6D5<O.  
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YOUTH ACTIVATOR >>47O645F 6?<O=<5 =4 7?G5>><5 EFDG>FGDO.  
" 6> 6D5<O 6>745=EF6<O =4 >>6G �O >MGM45F5 F5??>  

6 7?G5>><E E?>OE >>6< 

" ?D><EE>4<F EF<<G?<D>64=<5 < GE>>D5=<5 6E5E >5<5==OE 
?D>F5EE>6 6 >>65  

" cF<<G?<DG5FEO 6OD45>F>4 E>5EF65==>7> >>??475=4 < M?4EF<=4 

" ?D><EE>4<F ?>6OL5=<5 M?4EF<G=>EF< < F>=GE4 >>6< 

 

�5?D567>=45==4O MDD5>F<6=>EFL <5F>4<>< RF-?<DF<=74 3  

MF> 5EF5EF65==>5 ><>?>65=<5 < ?>4FO6>4 >>6<.  

$57G?LF4F 74<5F5= G65 ?>E?5 ?5D6>= ?D>F54GDO.  
�D< <E?>?L7>64=<< 6 E>G5F4=<< E >>=F4>F=O< 75?5<  
«YOUTH ACTIVATOR», 44==4O F5E=>?>7<O  E45?45F �4LG >>6G 

�>?55 7?44>>=, G?DG7>= < M?4EF<G=>=, 5?47>44DO G5<G  
�=4 5G45F 6O7?O45FL <>?>65 < E65655. 
 

 

$��'�,&�&/ �$�������/  
«YOUTH ACTIVATOR»  
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,47 1: �>47>F>6>4 >>6< 

%=<<<F5 6E5 G>D4L5=<O E ?<F4 < L5<. 
�G<EF<F5 ?<F>, G44?<6 65EL <4><O6. �?O 4>EF<65=<O >?F<<4?L=OE  
D57G?LF4F>6 =5>5E>4<<4 G<EF4O, EGE4O >>64. �>45?<F5 ?<F> =4 4 7>=O  
< ?D<7>F>6LF5EL > ?>>G5D54=><G 6>745=EF6<N =4 >464GN >5?4EFL. 

 

,47 2: �?4=<D>64=<5 ?D>F54GDO 

�46<<F5 < G45D6<64=F5 >=>?>G ?<F4=<O, ?>>4 GEFD>=EF6> =5 6>?NG<FEO. 
�47>D<FEO >4<= E<=<= E65F, G>47O64O =4 F>, GF> GEFD>=EF6> =4E>4<FEO 6 D56<<5 
LOW energy. 'F>5O G65?<G<FL =4EFD>=>G 4> HIGH, =46<<F5 >=>?>G ?<F4=<O 5M5 
D47. �47>D<FEO 6F>D>= E<=<= E65F. $5>><5=4G5FEO =4G4FL ?5D6GN ?D>F54GDG  
=4 =<7>>< GD>6=5 < ?5D5=F< =4 6OE>><= GD>65=L, 5E?< 6O =5 GG6EF6G5F5 
4<E>><D>DF4. 
 

,47 3: �D<<5=5=<5 >>=F4>F=>7> 75?O 

�4=5E<F5 E?>= >>=F4>F=>7> 75?O «YOUTH ACTIVATOR» =4 >>6G,  
745 5G4GF ?D>6>4<FLEO ?D>F54GDO. �D<<5=O=F5 75?L ?> <5D5 =5>5E>4<<>EF<  
=4 ?D>FO65=<< 6E57> ?D>F5EE4, F4> >4> GEFD>=EF6> =5 5G45F DG=>F<>=<D>64FL 
4>?6=O< >5D47>< 557 4>EF4F>G=>7> >>?<G5EF64 75?O. 
 

 

>=>?>4 ?<F4=<O 

��$/��� �$�������/ �$�&��'$ 



,47 4: �D>F54GD4 

�D<E?>=<F5 ?D<5>D > ?<FG. �>?>6>4 4???<>4F>D4 747>D<FEO >D4E=O< 
F65F><, G>47O64O, GF> M=5D7<O 4>EF46?O5FEO. �O ?>GG6EF6G5F5 =56=>5 
F5??>. �5D5<5M4=F5 ?D<5>D >DG7>6O<< 46<65=<O<< 4?O >5D45>F>< 
6O5D4==>= 7>=O. '5D57 G5FOD5 <<=GFO GEFD>=EF6> 5G45F 6<5D<D>64FL, 
E<7=4?<7<DGO > ?5D5E>45 =4 E?54GNMGN 7>=G >5D45>F><. �>E?5 F>7>,  
>4> 6E5 G5FOD5 7>=O 5G4GF >5D45>F4=O, GEFD>=EF6> 46F><4F<G5E>< 
>F>?NG<FEO.  

�4 ?D>FO65=<< 6E5= ?D>F54GDO =5>5E>4<<> ?>445D6<64FL >>=F4>F 
6E5E L5EF< M?5>FD>4>6 E >>65=!!! 

 
,47 5: 'E>4 74 >>65=  
�4> F>?L>> ?D>F54GD4 74>>=G<FEO, G44?<F5 >>=F4>F=O= 75?L FU??>=  
6?46=>= F>4=LN. �E?< �4L4 >>64 6O7?O4<F E?57>4 >D4E=>= ?>E?5 
?D>F54GDO, MF> 4>?6=> <EG57=GFL 6 F5G5=<5 24 G4E>6. 
�?O E=OF<O ?>>D4E=5=<O >>6< D5>><5=4G5FEO <E?>?L7>64FL 
�>EEF4=46?<64NM<= >D5< ?>E?5 RF-?D>F54GD <?< 6>EEF4=46?<64NMGN  
<4E>G. 
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" �<>?>65=<5 >>6< 4 MF> ?>EF5?5==O= ?D>F5EE.  
" $57G?LF4FO <>7GF >F?<G4FLEO 6 746<E<<>EF<  

>F 6>7D4EF4 < <=4<6<4G4?L=OE >E>55==>EF5= >>6<.  
" �?O 4>EF<65=<O =4<?GGL<E D57G?LF4F>6 ?D>=4<F5 ?>?=O=  

>GDE. � ?D>654<F5 ?> 5 E54=E>6 >5D45>F>< 6 =545?N 6 F5G5=<5  
4-E =545?L, 4 74F5< 5M5 ?> 464 E54=E4 6 =545?N  
6 F5G5=<5 4 =545?L.  

�>E?5 MF>7> 8-<< =545?L=>7> >GDE4,  

�O <>65F5 <E?>?L7>64FL «YOUTH 
ACTIVATOR» 1-2 D474 6 =545?N,  

GF>5O E>ED4=<FL D57G?LF4FO =44>?7>.  
'5D57 6 <5EOF56 5E?< 6>7=<>=5F 
=5>5E>4<<>EFL, >GDE <>6=> ?>6F>D<FL. 
�D>6>4<F5 ?D>F54GDO ?> E6>5<G 
65?4=<N  (=5 5>?55 5 D47 6 =545?N). 

��$/��� �$�������/ �$�&��'$ 



�$���'-�%&�� �$���$� «YOUTH ACTIVATOR»  

������&�����/ &�%������/. �D<5>D 6>??>F<? 6 E555 E4<GN 
?5D54>6GN F5E=>?>7<N 6>745=EF6<O =4 >>6G E?5F<4?L=>= D44<>G4EF>F>=  
4?O ><>?>65=<O < ?>6OL5=<O G?DG7>EF<.  
 

��� ��.��&�� � ����. -F< ?D>F54GDO ?> GE>4G 74 >>65=  
E>6E5< =5 F4><5, >4> <=N5>F<< ?>4 >>6G <?< E<DGD7<G5E><5 
><>?46<64NM<5 ?D>F54GDO, ?>F><G GF> F5E=>?>7<O RF ?<DF<=74 
?>?=>EFLN 557>?4E=4 < 5575>?57=5==4.  
 

������%��� ������%&���. � ?D<5>D5 4?O GE>44 74 >>65= «YOUTH 
ACTIVATOR» ILUMINAGE ?D<<5=O5FEO MDD5>F G<5D5==>7> =47D564=<O 
5EF5EF65==>7> ?D><EE>645=<O, M=5D7<O D46=><5D=> =4?D46?O5FEO  
=4 6EN 7?G5<=G F>4=5= 45D<O, 745 D>D<<DG5FEO >>??475=. �??4D4F 

 >E=4M5= 46F><4F<G5E>>= E<EF5<>= 557>?4E=>EF<, >>F>D4O 45?45F 
?D<<5=5=<5 4??4D4F4 >G5=L G4>5=O<. �5E>?NF=4O 557>?4E=>EFL 
?>4F65D645=4 E5DF<D<>4F>< FDA*  
 

��&���&�'�%��� �/��.'���� E F5?LN ?D54>F6D4M5=<O ?5D57D564 

>>6<. �D<5>D 46F><4F<G5E>< >F>?NG<FEO ?>E?5 >5D45>F>< 6E5E 4-E 7>=. 

 

��&'�� �������/. �D<5>D 46F><4F<G5E>< >F>?NG<FEO,  
5E?< 6O >F6545F5 ?D<5>D 6 EF>D>=G >F ?<F4, ?D5>D4F<F5 46<65=<5  

?D<5>D4 6> 6D5<O ?D>F54GDO. 
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�$���'-�%&�� �$���$� «YOUTH ACTIVATOR»  

*FDA - '?D46?5=<5 ?> E4=<F4D=><G =447>DG 74 >4G5EF6>< ?<M56OE ?D>4G>F>6 < F>64D>6 4?O 74>D>6LO (%,�). 
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�>=F4>F=O= 75?L  
4?O ?D>F54GDO ?475D=>=  
< RF- >>DD5>F<< >>6<,  
130 <? Beauty Style  

4DF. 4515500 

�D5< 6>EEF4=46?<64NM<= 

74M<F=O= ?>E?5 ?D>F54GDO  
?475D=>= < RF >>DD5>F<< >>6<,  
130 <? Beauty Style  

4DF. 4515501 
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�4E>4 4?O ?<F4 
6>EEF4=46?<64NM4O  
E 5<>F5??N?>7>=  

Beauty Style  

4DF. 4515431 

�5=>4 4?O 45<4><O64  

E> EF6>?>6O<< >?5F>4<< 4D74=O, 

Beauty Style  

4DF. 4515424 



"  �=>>?>7<G5E><5 745>?564=<O 

"  &O65?O5 D>D<O 7<?5DF>=<< < E4E4D=>7> 4<455F4 

"  �45>?564=<O >>6< 6 EF44<< >5>EFD5=<O 

"  �5D<4F>?>7<G5E><5 745>?564=<O 

"  �E?>?L7>64=<5 6 >5?4EFOE E ?>6D5645==>= >>65=, =4 D4=4E 

"  �D< <E?>?L7>64=<< M?5>FD>>4D4<>EF<<G?OF>D>6 

"  �D< 745>?564=<OE M?<?5?E<5= 

"  �D< ?E<E<G5E><E D4EEFD>=EF64E 

"  �5D5<5==>EFL < ?5D<>4 >>D<?5=<O 7DG4LN 

"  �5 <E?>?L7G=F5 GEFD>=EF6> 6 >5?4EF< 65>, 5D>65=, 7G5 <?< GL5= 

"  �5 D5>><5=4G5FEO <E?>?L7>64FL 6 >5?4EF< M<F>6<4=>= 65?57O 

"  �5 <E?>?L7G=F5 GEFD>=EF6> 557 >>=F4>F=>7> 75?O. 
" �E?< G �4E 6>7=<>?< <4?5=L<5 E><=5=<O ?> ?>6>4G  

557>?4E=>EF< ?D<<5=5=<O 4??4D4F4 3 ?>E>65FG=F5EL E 6D4G><  
4> 57> <E?>?L7>64=<O. 
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«YOUTH ACTIVATOR»  

'4EF>F4 D44<>E<7=4?4: 1��F 

�>M=>EFL D44<>E<7=4?4: 4> 10 �F 

%?5>FD <7?GG5=<O: 660 =<, 850 =< 

�?>F=>EFL <>M=>EF< E65F>6>7> <7?GG5=<O:  

4> 50 <�F/E<2 

�4>E<<4?L=>5 >?F<G5E>>5 <7?GG5=<5: 100 <�F 

-?5>FD>?<F4=<5: 5 � ?>EF.F>>4, 0,5-4A 

$47<5DO: 115E66,5E33 << (557 >>??4G>4) 
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www.sozv.ru 

http://www.odnoklassniki.ru/sozvezdiekrasoty 
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http://vk.com/sozvezdiekrasoti 

http://instagram.com/sozvezdiekrasoti 

http://www.sozv.ru/
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http://vk.com/sozvezdiekrasoti
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